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(3) WA X® +ax+b<0 HIFEN {x| -2 <x <3}, Wa-b= ( )
(A7 (B) S (C)-5 (D) -7
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(L ®EEM :{x|x2—x—2<0} N :{x|x2+x—2<0},)rllJM NN = ( )

(A) {X|x*+x-2<0} (B) {x|x*-1<0} (C) {x|x*—4<0} (D) {x|x*—-x-2<0}
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<2>ii%é?M=#XIXZQ,N={xrfi%<o}mUM(wN= ( )
X_

(A) {x|1<x<2} (B) {x|1<x<2} (C) {x|x>-1} (D) {x|x=>1}
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6. K%ﬁ\/—x+3>%xﬂ’~m§%?’3 C )

(A) {X-3<x<0} (B) {x-3<x<2} (C) {x-3<x<6} (D) {x-2<x<86}
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27. CRG# 5y 10 43, BRTREEZEHE A
WAL f () =x* +ax+b, AEA0< f(x)<6-x MfF4EN{x|2<x<3aix=6}, KaFflb .
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HaeR, XMERSLE X #H x> +2xlog, a+8log, a> 3.3k a [IHUE L.
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26. (A/NEISY 10 4%, FE TR ZE R A A MHD

iR log, |x+1] <1+log,|x 1.
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Wa s, HAHMEMSEHix, A% x-1<(x—a)’+2a<a(x-1)?+61Hm 7, Ka AEL
VER(ENEER
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2000 £E 25. CA/NEH 4> 10 43, SCESEFE A
O KBRS f () BRAME 8, H f(2)=f(6)=0.RA%ER |f(x)|<10x fAFESE.
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